> with(LinearAlgebra) :
> K = Matrix(2,2,[4,-2,-2,2])

4 -2
K=
2 2
[ > M= Matrix(2,2, [4,1,1,2])
4 1
M=
12

> v, e := evalf (Eigenvectors(K, M) )
2.640754482

0.216388376

-0.7071067812 0.7071067820
1. 1.

v, e =

b

| > Frequéncia do 1lo. nodo de vibrar
> f[1]:= evalf( > rtz(.\;)[iZ]) )
/1 :=0.07403500249

;> Frequénci a do 2o0. nodo de vibrar
> fl2] = evalf( : rtz(.\;)[_il]) )
/5 :=0.2586331232

> Ni=Marin(2,2, [4-(1 —0),-2 —0 -2 — 0, 2-(1 —& ) ])

4—de 2-w

N = 5 5
-0 2-2w

[ > subs(omega=sqrt(v[1]), N)

-6.56301793 - 4.640754482

-4.640754482 -3.281508964

[ > phi[1] == xi — piecewise( xi > Oandxi < 1,1 —xi,0) :
| > phi[2] := xi — piecewise(x1 > 0 andxi < 1,x1,0) :
| > lo. nodo de vibrar

> plot([subs(omegaZ %i, sin(omega-x) ), phi[1](2-x)-0 + (phi[Z](Z- X) +phi[1](2- ( X

—%)))-e[l,Z] +phi[2](2-(x—%))-e[2,2]

,x=0..1)
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;> 20. nodo de vibrar

> plot([subs(omegaZ 32Pi , sin(omega-x) ),phi[l](Z' x)-0- (phi[Z](Z- X) +phi[1](2- ( X

—%)))-e[l,l]—phi[2](2-(x—%))'e[2,1]

,x=0..1)
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